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Note: The question paper is divided into three sections A, B and C.
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Section - A 8§xX2=16
(Very Short Answer Questions)
Note:  Section ‘A’ contain 08 Very Short Answer Type Questions.
Examinees have to attempt all questions. Each question is of 02
marks and maximum word limit is thirty words.
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1) (i) Define the complex number?

Qe G ol a9 i)
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(i1) Write the definition of relation.

T Dl gRYTET fIRau|

(i11) If y =u + v then find the value of %

ﬁy=u+v§ﬁ%@%§ﬁ€ﬁﬁq|

(iv) Write the nth derivative of e,
eax T n T 3faher fIRau|

(v) Write the value of f e[ f(x)+ f(x)]dx.
[ e 17+ riax B T RiRew

(vi) Write the definition of definite Integral.
RIESESEICREICARCIRGIEINTIREI

(vii) Write the equation on tangent of parabola )2 = 4ax at the point

(e vp)-
RIS 32 = dax P 4 (x), yy) R T4 @7 BT Ffiepu

forRau|

(viii) Define the zero vector.

g |fer I uRHINE HIfg)
Section - B 4 X8=32
(Short Answer Questions)
Note: Section ‘B’ contain 08 Short Answer Type Questions. Examinees

will have to answer any four (04) questions. Each question is of
08 marks. Examinees have to delimit each answer in maximum
200 words.
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2)

3)

4)

5)

ft R (04) FaTA! S A6 ST &1 YD T8 08 3fh Al gl
Ttenfft @t arftray 200 oregl B Tes STare aRAfAT B
2l

Ifx+L=2cosf andy+LZZCoscl>thenprovethat:
X"y M+ x "y =2 cos(ml — ne)

Ifg x+ L =2cosf T y+7=2cosd> d9 Rig HIfvrE

X"y M+ x "y =2 cos(ml — ne)

If R— R and g :R — R are defined on the set of real numbers R,
where f(x)=x>—2xV xE€R and g(x) = 2x — 5, V x € R then find
(90.) () and (fo 9) (x).

IfE fR—R TUT g :R— R IR<IAD T3 & Fdd R W
Qﬁﬁﬁﬁwgl GIEETJ f(x)=x2—2xVxER AT g(x)=2x-35,
VxERTS (gof) (x) W (fog) (x) T DI

dy _ log,x
dx (1+ logex)2

q%xy_xy@ﬁﬁqaw-ﬁﬁ dy loge

dx (1 + logex)2

If x” = ¢ then prove that ——

x e’ —log(l+x)

Find the value of lim, 5
X
*— log(1 +
lim,_, 2 1080+ @ o o BT
X
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6) Find the value of f _dx
G 1 +/tanx
7
B JH ST DINTT |
of 1+ tanx
7) 1If e and e’ be the eccentricities of a hyperbola and it’s conjugate
hyperbola : then prove that Lz + L =1
I T SfoRaeT q g%ras ﬂgﬂﬂ TR & SecbrgaTd
e TN '3 A Rig R 6 4 + L =1.
e
8) Find the equation of the plane passing through the point (2, -3, 1)
which is normal of the line joining points (3, 4, —1) and (2, -1, 5).
875 (2,3, 1) A TORA dTel IH FHIel Dbl FHIBRY M1l DI
ST fe=gatl (3,4, -1) W@ (2,1, 5) BT AT areft X1 & 31
&l
9) Prove that the volume of the tetrahedron forming by the vertices
A0, 1,2),B(3,0,1),C(4, 3, 6) and D(2, 3, 2) is 6 unit.
frg a1 fop st A, 1, 2), B3, 0, 1), C4, 3, 6), D2, 3,2) &
f¥fd aqshete @1 I 6 SPTS 2
Section - C 2X16=32
(Long Answer Questions)
Note: Section ‘C’ contain 04 Long Answer Type Questions. Examinees

will have to answer any two (02) questions. Each question is of
16 marks. Examinees have to delimit each answer in maximum
500 words.
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10) (i)

(ii)

1) (1)

(ii)
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Find all roots equation x° —x° + x* —1= 0.

FHH 17 — % +x* —1= 0 & FH 7T 1A BRI

Find derivative of sin~! x by first principle of derivative.
3faeher &b oM RIGIA A sin! x BT Db S DI |

Ify=[x+vx>—1 1" then prove that :
(@ =1y, +xy, —m’y=0

A y =[x+ /22— 11" & @ Rig HIfvT fop

x> =1y, + xy, —m*y=0
2 1

Examine the continuity of the function :

2
x“—4
ﬂm={x_2’ XFE2 atx=2
4, x=2

2

—4 _
Wf(x)={9;12’ ”zaﬁpzww—aﬂ G}
> X =

ST BT
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. . , 1 1
12 Find the value of | —5 =
) (1) Find the value of lim,_ 2 sinix
lim, |5 ——5—| @1 71 s BRI
x°  sin“x

(i1) Find the value of f sin® x. cos?xdx
fsin4 x. cos’xdx T HIF ST DIfSTT|
13) (i) Prove that by the vector method in a triangle ABC.
Aicer fafer 1 Brgst ABC H g IR 6
a _ _b _ ¢

sinA  sinB  sinC

(i) A particle starting from the origin moving in a plane xoy that
the velocity parallel to the x-axis is proportional to y and the
velocity parallel to the y-axis is constant then find the path of
the particle.

Tep VT He fairg 3 AT BIebR FHCICT xoy H 9 YR THRIHH
g b x— 3781 & AR T y P FATIAIRT g TUT y— 3787 &
FHTR T 3TTR g1 PO BT U ST DIy
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